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Note — Attempt five questions in all. Que-stion No. 1 is

compulsory. All guestions catry equal marks.
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increasing returns to scale ? Explain increasing returns

to scale with the help of isoquants. 10,8,12
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( 2 ) - Eco-1

What was the classical approach to macroeconomics ?

How did it differ from the Keynesian approach ? Is
Keynesian theory of employment and income distribution
applicable to developing economies ? Give reasons.

8,8,14
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Explain through IS-LLM curve, the limitations of monetary

policy. Do yvou agree that monetary policy is not enough

_ to control inflation in Indian economy ? If yes, what are

the other factors which can control inflation 7 128,10
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( 3 ) Eco-1

What do you mean by fiscal deficit 2 How is this different
from primary deficit ? What a;'e the signiﬁcances of these
deficits for development ? Can the goals_ of development
be achieved without having high fiscal deficit ? Give

reasons. , 5,5,10,10

wﬁaa@@mw.mﬁ%?a@mmm@
¥ fopm gR @ R ¥ 2 3 =S @ e B fom
1 Hed © 2 ¥ T & sl =61, fo 5= s
e = 9rda e ST ogsdar © ?‘crarffc."“’rf‘@rq:

=

What is the difference betweén fixed and flexible exchange
rate ? How do you determine Rupee-Dollar exchange rate
if there is flexible exchange rate system in place ? What
significance does this flexible exchange rate system have
for balance of payment situation for a developing
economy ? 8,10,12
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What are the differences and similarities between value
added tax and excise duty ? Which, according to you,
is more efficient i‘n terms. of government revenue
generation ? Who beneﬁts more producerslsellers, buyers

or the government from value added tax ? 8,10,12
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( 5 ) Nad Eco-1
State the role played. by planning aﬁd market mechanism
in échieving growth targets of a;l economy. According to
ybu which system is ﬁore suitable for high growth rate
for Indian economy ? Do you think that role of these
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institutions are changing significantly in the ;i'resent era ?

Give reasons for your answer. ©.10,10,10
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Write short notes on any two of the following :
® Excess capacity under monqpolistic competition;
(iQ Crowding out;
(ui) Public goods and free rider problex%n;
(iv) Strﬁctural Adjustment Programme (SAP) 15,15
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